Practice
Equations of Lines: Slope and y-intercept

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again.

#1) The function y =4x—2 is represented by which graph?
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#2) State whether each graph’s slope is positive, negative, zeto, or undefined:
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#3) What is the slope of this graph? #4) What is the slope of this graph?
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#5) Find the slope and y-intercept, and graph: 2x+3y =24
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#6) Find the slope and y-intercept, and graph: 4x—y-5=0
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#7) Find the slope and y-intercept, and graph: 2y+16=0
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#8) Find the s‘lope and y-intercept, and graph: 3x=9
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#9) Find the slope and y-intercept, and graph: 4x—(2y—6)=0

slope y-intercept




#10) Find the slope and y-intercept, and graph: y :%x—l

slope y-intercept
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o m N Wwr D DD

N
01 23456780810

-

2 B8-7T654.3-2-

S Sk

WA D RS

#9) slope:2 y-intercept:(0,3)

=3

H8-TH-5-43 c12345617 8910

L

=X

#10) s!ope:—zn y -intercept :(0,—1) g

9

6
5

3
7
4
3
F]
1

— a
8T BE4 3212345678910

de Sy i ip bl

=)




Solutions:

#1) The function y =
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#12) State whether each graph's slope is positive. negative, zero, or undelined:

#5) Find the slope and y-intercept, and praph:
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iy What is the stope of this graph?
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#6) Find the slope and y-intercept, and graph:  dy - p-5-0
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#7) Find the slope and y-intercept. and graph: 2p 416 =0
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#8) I'ind the stope and y-intercept, and graph; 3y =9
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#9) Find the slope and y-intercept, and praph: 4y - (L?y--(,) =)
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110} Find the slope and y-intercept, and graph: p= >y —|
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